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| 600,000 600,000 0
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AAIE O 500,000 250,000 250,000
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O&FZXNE AlLEsUst K& 500,000 250,000 250,000

o SSAY FRILA SHII) 5,000,000 5,000,000 0

Ngd = ) 1,000,000 1,000,000 0

SIPAPN =N 320,000 350,000 230,000

1 REXIEHA 40,000 150,000 A110,000

OZZXNHA gy &= SstABd =4 40,000 150,000 A110,000

13 So12s0teE IEAISYI 280,000 200,000 80,000
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403 XHXISHHS 680,000 650,000 30,000
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= 319,030 301,985 17,045
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= 602,000 602,000 0
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A SLSHAHEH Aldztel 145,750 128,705 17,045

1 @I4d| 34,090 17,045 17,045
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< 166,280 166,280 0

SeoIEFe NSHSHEH 28(52) 391,000 381,000 10,000

= 391,000 381,000 10,000

307 2IZto& 391,000 381,000 10,000

= 391,000 381,000 10,000
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= 391,000 381,000 10,000
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01 =NE2XSEHES 14,513 0 14,513
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